
 

 

 

 

Challenge: Can you create your own question?  

www.accessmaths.co.uk 

Solving Equations - Perimeter 
 

2x + 3 

1)     2)     3) 

3x - 11 4x - 3 

Find the value of x for each of the squares shown below: 

Perimeter = 36cm Perimeter = 4cm Perimeter = 20cm 

5x + 3 

4)     5)     6) 

2x - 3 3x - 4 

Perimeter = 42cm Perimeter = 8cm Perimeter = 26cm 

4x + 3 

1)        2)      

3x - 1 

4x + 5 

Find the value of x for each of the rectangles shown below: 

Perimeter = 40cm Perimeter = 50cm 

5x - 1 

7x + 3 

1)        2)      

5x - 3 

3x + 4 

Perimeter = 29cm Perimeter = 44cm 

2x - 2 
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